
3 x 6 = .

6 x 5 = .

9 x 4 = .

12 x 3 = .

2 x 2 = .

4 x 7 = .

12 ÷ 12 =           .

15 ÷ 3  =           .

25 ÷ 1 =           .

Year 5 Homework B – 6th October 2023

Shape

Multiplication

Reasoning 

6 x 8 = .

10 x 11 = .

8 x 10 = .

5 x 9 = .

1 x 8 = .

0 x 7 = .

72 ÷ 8 =           .

28 ÷ 7 =           .

48 ÷ 4 =           .

Place Value

Remember to also have a go at TTRS, 
Spelling Shed and Lexia (if you have it)! All 
links are on the class page.

Forgotten your login? Let me know!

Addition and Subtraction

Put these values in descending order:

Tth Th H T O

3 4 5 2

+ 2 6 3 9

Tth Th H T O

4 3 0 2

- 4 1 3 3

Mark each question with a T for true, 
or F for false.

a) What mistake has Noah made? 

b) What would the correct answer be?

c) What is 3642 rounded to the nearest 
thousand?

3642 rounded to the nearest 
hundred is 3500.
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